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Connect the dot for an answer to the dot for the previous answer.
Take the derivative of y with respect to x (unless otherwise directed).
Simplify each expression.
Write each answer in simplest radical form.

1y=3 3y= 20
X
3y =%’ T e

4y = (x+2D0Gz+1D 15y =2x*-32* +4x+1

5.y =52 4+3x-1
6.y =(3x" +3)*
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START A NEW LINE.
2% +6x +6x" +2x
P43 +3x+1
24y =5x° —4
25y =2x" +5x+4
26 v = (5% —4)(2x" +5x+4)
27y =9+2x°
START A NEW LINE.
28 v = 2% —Tx+15
29y =6x" +2x° +4x-3
20 Find the second denvative
of problem # 2%
31, Find thethird denvative of
problem # 2%
30 y=2x"—Tx-9
CIECLE THE LAST
DOT & ANSWEE.
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